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Reimbursed bedside examination
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Reimbursed bedside examination

Examination of eyelid

Width of

palpebral fissure

How to measure

Vertical fissure height

Limbus
Lateral canthus

e Normal width of palpebral fissure : 9-12 mm

° Normal levator function : 12 mm
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Margin Reflex Distance (MRD)

Preseptal skin
Brow-lid distance

Pretarsal skin
Margin reflex distance 1

Lateral orbital rim Margin reflex distance 2

Infraorbital rim

Tear trough
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e MRD1:4-5mm
e MRD2:5mm

Cogan’s lid twitching test

e Transient lid retraction, then twitch or droop back to a ptotic position when the

patient first look down for a short period and then make a saccade back to primary

position

Video
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o DFESHA S2RXE ChAL J2ief QHASHS: RIX|Z2 S0t s S¢S =Q5HH,
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Reimbursed bedside examination

SSoFEHS d=HA
o FX685

o OfNHl Bk

e Improved strength after administration of anticholinesterase

e Sensitivity : generalized (84%), ocular (60%)
e Neostigmine (1.0-1.5 mg) or pyridostigmine (2-3 mg)
e Compare pre- and post- (20-30 minutes) administration

e Pretreatment with atropine (0.5 mg) S.C

CEI test
Drug Onset (min) Duration Dose (mg)
Edrophonium (IV) 1 10 min 10
Neostigmine (IM) 15-30 30-60 1
Pyridostigmine (IM) 15-30 60-90 5

e The patient should be free of CEl drugs

e Caution : increase in oral secretion, bradycardia, Gl intolerance, cramp

e Subjective improvement does not have same significance as observed one
e False positivity : LEMS, botulism, motor neuron disease, MS, GBS, myopathy

e False-negative : insufficient injection dosage
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Icepack test
e FE0791(=9H)

e Inhibit acetylcholinesterase by cooling ptotic eyelid
e “Poor physician’s test”
e Place ice pack across the eyes for 2-5 min

e 93~97% sensitivity with 97~98% specificity

HIC|2 SRSSHA

e Video head impulse test
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Reimbursed bedside examination

e Vibration Induced Nystagmus Test
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e Vestibular Disorders Activities of Daily Living Scale
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Dizziness Handicap Inventory Test
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Reimbursed bedside examination

e NPI-Q
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Reimbursed bedside examination
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Reimbursed bedside examination
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